Right side depicted

Use SOP: Bill of Material
S-PL.40.11 No. Plan Article Quantity
S-PL.40.12 1 P00042232 GP28426 (D25,4) 1
P00070861 GP29726 (D22,2) 1
P00042236 2659354 1
P00042230 2659254 1
P00042239 2659054 (R) 1
P00036776 2658954 (L) 1
P00036772 2659154 1
P00045611 2997538 1
P00046043 2997537 1
P00045288 2997536 1
P00045291 2997535 1
P00045293 2997540 1
P00045294 2997539 1
P00048050 2997542 1
P00048049 2997541 1
Y003413 1463254 1
Y009841 1658600 1
X002112 1001491 1
X002654 1608600 1
X002801 1994672 2
XP00876 2829426 (D25,4) 2
XP00935 2836826 (D22,2) 1
M6x30 DIN912 1915911 4
M6x50 1ISO7380 2994965 1
M8x16 1SO7380 2994427 2
M5x16 DIN912 1915415 2
Nut M6 DIN986 2994059 1
* - not depicted
a- LO4TL - Large 100x165mm
b - LO4TS - Small 70x120mm -
Plan No.

LO4TL /LO4TS TUBE MOUNTED

E00044823/C1.1

Scale: 1:2 Drafted Verified Confirmed
Date 05/01/2023 04/12/2023 04/12/2023
Initials DR AS AS

\V
W
VERMEIREN

000,




